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( A )1. Calculate the exact value of (379+4+379)x5007?

(A) 379000 (B) 397000 (C) 558000 (D) 548000
FRAT + 379X 2X500=379x1000=379000

( D )2. Sisterand Brother read the comic book everyday. Sister reads 21
pages a day but Brother reads 44 pages. Question: How many days
after their reading will be 391 pages difference?

(A) 19 days (B) 16 days (C) 18 days (D) 17 days

BEMT : 391+(44—21)=17 K

( A )3. Asquare paper measures 36¢cm in total side of length. Another rect-
angle paper measures 9cm in length and 8cm in width. Question:
Which one is bigger?
(A) the square paper (B) the rectangle paper
(C) in same size (D) cannot compare

BEMT : IEOEEE=(36+4)x(36+4)=81 » KA HEIE=9x8=72

( C )4 BEEPITREZ-R_T=EIT G SRRRE_TUEBRIT > BERG

MERFZDENE «
(A) —RIUFNsE B) —F/\88
(C) T \B& (D) N\FB&E
BEAT © 12000—2400=9600 & JT
A
( B )5 &8 6BBEXMIRAE- 0 B
(A)18 (B)15 (C)13 (D)10 G
BEAT : 5+443+2+1=15 8 FED
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) 6. FEFENABEIFEMES - BBRAOOEEZE—EIELEERT - 42
F948:@0F » LR S 3.237 RE » NS 2.987 AR EEIESH
TEEMERBZDNE <
(A) 6.224 X2  (B) 1.556 &8

(3.237+2.987)+4=1.556 /N

(C)0.25RE (D)1 nE

RARZE 4 B 22 BEF 985 » BIEANF0VEE) DM AT FAQ
FI%) 0 FESTHRR 107 @\ SMOULUEZEERS » S5RTEsTIROBO
IFEEERES <

(A) 4 B 26 HEF 11 65 (B)4 B 26 HEF 86F

(C)4B 26 3T 865 (D)4B 268 TF 1165

107+24=4 8118 4B 228BELF 9+4 H 11 65=4 B 26 5 20 65

=4 8 26 T4 8 ¥
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) 8. EREIEE 15 I8 » HEP 9 i/ IETNZE » BE 9 BREBHNFEL
Bi8 7200 7t * HEFMEBINEEER®E 550 ;TtHIFE » STFENEIE

AEMBBREYD  B8EAZEZDE <
(A)800 (B)550 (C)90 (D) 700

(7200 + 550 x (15 —9)) = 15=700 JG

T0m
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A °
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(A)22 N (B)23 A
2 -
(©)21 A  (D)45 A . 1 . .
8+3+5+7=23 A B B A T IR
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() 93, (B) 94 (C) 95 . (D) 96 T

%?dfﬁ:553—283+1zi=38i 553 383_93E
10 10 10 10 10 10 10

( C )12. MESBRIFHEREINE BN BIE 1600 F0 2800 @ HBRENAIUE
ANEEREIBN > MBS AEEDY <
(A) 4200 (B) 4400 (C) 4600 (D) 4800
R - MBIERATEER 1600 — 1699 ° 2800 — 2899
DU AAERIBEI 1699 — 1700 * 2899 — 2900
. MEFIR KIE 1700+2900=4600

( B )13. NYIRGIRIEtERNBAE <
(B)— Bl EEMIEHER -
() BMNEFRZE 4 BER KRB 2BERA
(R)—ENEFREBE=BRER ' si— R °
(M)—E=EZFHEP—EERER @ e8I °
(X)) TIOEFNEARES EHEB
(A) 2 (B) 3 (C) 4 (D)5

B HE B -R-T EBHE: S IX

( D )14 —ERREZE1RLRE 710 ARBBNEF EBMB TR 18 ARM—ERF
' BHIMIRtE 2N » BEREIRERS I S A ER*
(A)162 (B)176 (C)184 (D)192 18

BEAT + (A) 1 B 710 AR=1710 AR » 1710+18=95 * (95+1)x2=192 {&

( B )15 ﬁ—ﬂ%fﬁﬁ%’%’ﬁﬁlﬂ%{ﬁml%i Lk Ligms . 8% 8 AR 20 A% -

BEFETRBZIIDNARIZDND @
(A) 24 R 30 R_D (B) 24 RXR 60 7
(C) 25 R 30 13 (D) 26 }R 40 72
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BT 1-=—-===> 8 R 20 AD=820 1’7 °

( B )16 A—EIISBHNKRELENELL—ERE  SIETEE
tIEX 48 [B/)\117588 » SERIRB—EEZE LRE8)/IT
FEEE&E: (A)10 (B)16 (C)18 (D)24 &

BRAT + 4x24-2x4=16 1B

( C )17. E—BRFETNHHEEREN 92 » MERFFRENENEFT 6 BN 7 &
HIREVIERE 4324 HIREMES HIEIERS -
(A) 4126  (B)4212  (C)4232 (D) 4238

BRAT © 4324+92=47---0 » IETEBIIREVE 46 ° .".92x46=4232

( D )18. FHA|[4][o][6] ARFFFHERAME AR WERSD
e (A)49950  (B) 53294  (C)53955 (D) 53964
AT - BAAMIEA 64310 * &/)\AIEA 10346
64310—10346=53964

( C )19. MYB—EBFr~ERHBER <

(A) E (B) ‘) (©) @ (D)ﬁ

( D )20. GEPH=AF B 1=60° XA 2+A IHTVERE <
(A) 160 (B)185  (C) 200 (D) 240 E
BEAT © 180° — 60° = 120° » 180° + 180° — 120° = 240° 1

BRMT : C

( B )21 {RBNER  BRE 2% IMEERS
(A) £13 (B) €23 (C) B33 (D) B 435
BT BB 2 B BURMEBIRR - PTEAMRESS 2 8
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fINRFIEEE » & 20 WSFFIXAEE—X - BN E—BEFEA
e (A)25 (B) 30 (C) 36 (D) 40

idgisal
45-20=25
B Kox BIX20%0 90220 : 255 x=16
B 3220 B 3z225#0
.20+16=36
THB

) 23. ERE 200 ([BERBERN—(IESHE (—A—] > BUEENE)
EXE 6 EEA > iﬁ%ﬁ‘*i&)\?ﬁ%{%ﬂﬂ  BEAEDBE—Z -
EREASHREZERHEE IS MEMERITEBER <
(A) 62 (B) 63 (C) 64 (D) 65

TESES xR HEEEF

> x+24x+1+x+3+2+1<200 |BR| 1 | 2 | 3 | 4|5 |6

[===]
9XS63§’XEE§K=63 = X+2 | Xx+1 X 3 2 1

17 : (200-3—-2—1-1-2)+3= 63% S BZ63E

)24, T—REBBREAPE aBAEZEDBLIET B aBAEDB 28T
ﬁ aBAZEDBIET - » B a,BAZDEB n BT BABBEn
 BHENRIBRZDETT @
(A) a;+a,+az+ -+ +a, (B) a;+2a,+3az+ -+ - +na,
(C) arxazxagx -+ -+ Xa, (D) (14+243+ - - +n)Xxa,

1x(a;—a,)+2%(a,—as)+3(az—as)+4(as—as)+ -+ -+ +n(a, _;—ay)
=a;—ar+2a,—2az+3a;—3a,+4a,—4as+ - -+ +na, _1—ha,

=a;t+ataztas+ - --- +a,
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aran Paray /5;%— Paran Paray /5;%— Paran Paran Paran Paran /]_J\
11213415 /6/7/|8) 9104
O o = O = O = O = O = O = A = I =
AlOIX|O I XIO|O|X|X|X|O]|T70
Bl OO I X | X | X|O]O|O]|X|X |70
C I X | X[ X]O|]O | X|O|X]O|X]|6e60
D O X | X|IO|]O| X | X]O|X|X]|?
(A) 50 (B) 60 7 (C) 70 D (D) 80

i ABABBABH 78 2 A\GETEY 148 - EMANBERB 4 @18E » H
8500 6 BAE - 2E (BEARE) B 6 BDVARE 6 BIER  BILFIS (B
£18[8)) 84 EPH 8 BHIERR  BI=SRIER -

SUBAREERRE LR (O)  F48 (X)) E6mE (O) LB () -
£ C NBXRD LIITBAESHE S  HHES DA 60 JRNEMEMEETH S -
R EAER > DEHKHEE 12359108 HEHMR60-

||| B B B B B |FB|=HE 2
1/ 2|3| 4|5 |6/ 78] 9]10 .
T = = O = O = O = = O = A = R =
A O | X|O|I X|IO]O | X|IX|X]O]|T170
B | OO | X | X | X]|]O|O]O|X|X|170
C | X[ X[ X]|]OlO|X|]O|X|O]X]|es0
D O X | X|O]O|X|X]O|X|X| ? =607
FBI O I X | X | X]TO|]O]0O|X|X|X
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1. IRBIE -
(%] : 1 4 2 5 4 7

2 3 3 4 5 6

[BR) : 1x2x3—4=2 1 2x3x4—5=19 » 4x5x6—7=113-----&
(1) LTI ? 22D -

(121 1 BERAE 10 0 121E 2 BARE#EAE 15 1)
7 2 5 10 9 2

2 4 8 2 4 10
(2) b LBCRSEBIRESE -
(BED2fE+ - x - EEEERIEEE 10D)
BRI+ (1) BEME  Tx2—4%x2=6 ' 5x8—2x10=20 * 9x4—10x2=16

REEL (7-1)x2-2-4=6 SR 2. 7+2-4+2-1=6
(5—1)x8—10-2=20 5410—2+8-1=20
(9—1)x4—2—-10=20 94+2—-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

SX3+4x2=23 * 7x4+5x3=43 » 10x2+7x3=41

2. —HEEINET  31@—8 5@ &SN 6 [E—EERT 118 > 7 @—ENENIGILFTLA
25 ESHEBRETRDBAE <
BT SEMSEIE3-6-9-12-15-18~21~24~27~ (30 - -
5 IS5 10~ 1520 ~ 25 ~ 30) ~ -
6 ENSEE 6~ 12~ 18~ 24~ 30) ~ -

30+1=31"
30x2+1=61*
30x3+1=91’ 91+7=13 =)8 91 @
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